o
[N

<0 > (rad)
o
o [
[ [¢)]

iy

W[TTTT T

2 3
to beamline)

< o cot(y) >

........
........

.......

.......

ey

0.95!

W[TTTT T

0 1

TP n (PCA to bea

2

oal
pa|

ofral T
[o]
opal
(o]
o]

ETCOTT
—mKE| Ne\%
mKFEItNew:!
bal —mKFItNew|
bal_—mkFI

el _RECO

REC!

(0]

BBli—RECS

NewDett _RECO

100

(23 e ]
o O

< 00, > (M)
D
o

(@)
TIT T T[T [TI [ IP [T T[T [T [ TTr Tt

20

8

aer

cae-

cae-

cae-

..........................

........................

........................

RatioI

[y

0.95

W

-2

-1

0 1 2 3
TP n (PCA to beamline)

<0 / > (Y
PP, > (Y0)
O = N W N O

N HEIRIE ; 1[s1
S| IR RN ] 3l

E N : K !

e CHRITHIE B ;

E : P : ! i
(N AiliiNE

SRR R ) B0

Eo WL, | i |

1-—- nan- -

3 -2 -1 0 1 2 3

TP n (PCA- to beamline)

<od,> (um)

3

mline)

100

A OO @
o O O

........

W

-2

0 1

2

3

TP n (PCA to beamline)



	Contents
	Page 1


